
ド-754911570解答

解答

1. 展開図（円すい）
(1) x = 144（度）, S = 224πcm2

(2) S = 132πcm2

B

OAC

(3) S = 64πcm2

B

OAC

2. 展開図（円すい）
(1) x = 90（度）, S = 180πcm2

(2) S = 217πcm2

B

OAC

(3) S = 180πcm2

B

OAC

3. 展開図（円すい）
(1) x = 120（度）, S = 64πcm2

(2) S = 85πcm2

B

OAC

(3) S = 132πcm2

B

OAC

4. 展開図（円すい）
(1) x = 60（度）, S = 112πcm2

(2) S = 36πcm2

B

OAC

(3) S = 385πcm2

B

OAC

5. 展開図（円すい）
(1) x = 72（度）, S = 150πcm2

(2) S = 20πcm2

B

OAC

(3) S = 85πcm2

B

OAC

6. 展開図（円すい）
(1) x = 144（度）, S = 350πcm2

(2) S = 145πcm2

B

OAC

(3) S = 16πcm2

B

OAC
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7. 展開図（円すい）
(1) x = 90（度）, S = 180πcm2

(2) S = 217πcm2

B

OAC

(3) S = 33πcm2

B

OAC

8. 展開図（円すい）
(1) x = 120（度）, S = 100πcm2

(2) S = 245πcm2

B

OAC

(3) S = 145πcm2

B

OAC

9. 展開図（円すい）
(1) x = 80（度）, S = 198πcm2

(2) S = 64πcm2

B

OAC

(3) S = 85πcm2

B

OAC

10. 展開図（円すい）
(1) x = 72（度）, S = 150πcm2

(2) S = 33πcm2

B

OAC

(3) S = 45πcm2

B

OAC

11. 展開図（円すい）
(1) x = 144（度）, S = 350πcm2

(2) S = 145πcm2

B

OAC

(3) S = 385πcm2

B

OAC

12. 展開図（円すい）
(1) x = 135（度）, S = 297πcm2

(2) S = 100πcm2

B

OAC

(3) S = 33πcm2

B

OAC
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13. 展開図（円すい）
(1) x = 90（度）, S = 180πcm2

(2) S = 125πcm2

B

OAC

(3) S = 340πcm2

B

OAC

14. 展開図（円すい）
(1) x = 120（度）, S = 324πcm2

(2) S = 145πcm2

B

OAC

(3) S = 36πcm2

B

OAC

15. 展開図（円すい）
(1) x = 72（度）, S = 96πcm2

(2) S = 33πcm2

B

OAC

(3) S = 20πcm2

B

OAC

16. 展開図（円すい）
(1) x = 144（度）, S = 350πcm2

(2) S = 340πcm2

B

OAC

(3) S = 145πcm2

B

OAC

17. 展開図（円すい）
(1) x = 60（度）, S = 63πcm2

(2) S = 16πcm2

B

OAC

(3) S = 33πcm2

B

OAC

18. 展開図（円すい）
(1) x = 90（度）, S = 125πcm2

(2) S = 80πcm2

B

OAC

(3) S = 340πcm2

B

OAC


